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Calculate the size of

73°
NOT TO SCALE
X Z
(a) (i) angle x,
(ii) angle J;'. S )
Answer: o
(i)  angle .
- Answer: ks
NOT TO SCALE
(b) (i) ang|e a:
Answer: i
(ii) angle bs
Answer: b
@iii)  anglec.
Answer: -
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19.

NOT TO SCALE

(a) (i) angley,

Answer: .y
(i)  angley,

Answer: °m
(i1i)  anglez.

Answer: g [11
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Caleulate the size of

NOT TO SCALE
130°
a 20°
(@ () anglea,
a
|
Answer: (1]
(i)  anglep,
Answer: ° 1]
(iii)  angle e,
- Answer:

- e 0 (1]
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1S, Calculate the size of

(i) ongleb,

(iil) ang!e c.

@ G anglea,

' 4 Answér: ________,_.—————v———

° “]

hnswer; _____‘____.-———’*—_‘
o [“

-

- .Answcr: i
by @ - 'ﬂﬂgle.k,l:.:"’ Pagzlnet

| Ha - — ; °

@ angley. '
- Answer_: i o I"

(iii) anglez.
| Ansv\;cr: _

e e . L

.
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'NOTTO SCALE

(3) . From the diagrar above, calculate the size of hnglc

M s,

Answer — ~ : ‘[l-]
G b,
. Answer : (1]
@) - e
Answer : e m
NOTTO SCALE
7 P
(b) Calculalg'lhc size _t_)'l' angle
. (g) S |
- ‘Answer ‘ il o (1] . i
@Gi) 'y, |
) 1o Answer " 1
iy e oy
Answer : (1
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